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Hy: pp> 180, Hy : p < 180 Decision: Reject Hy.

Hy:p=8.2, Hy:p# 8.2 (a)Decision: Reject Hy. (b)Decision: Reject Hy.

Hy : <40, Hy : > 40 Decision: Reject Hy.

Hy:02>1.22% H;:o0? < 1.22 Decision: Do not Reject Hy.

Hy : puy = po, Hy : py # pe Decision: Do not reject Hy at both 1% and 5% level of significance.
Fy = 14.76 Decision: Reject Hy.

Hy:0% >0%, Hi:0}h <og

2
Fo = 25 = .3086

2
Reject Hy if Fo < F1-a,10-1,10-1

_ 1 _ 1 _
Fi_a10-1,10-1 = Froioiiool — 308 — 314
Fy < Fl—a,10—1,10—1 Decision: Reject Hy.
H()ZO'%ZOZB, 1-11:0124<0129
ny =ng = 10
Decision: Do not Reject Hy.
(a) Ho:0% =0%, Hy:0% # 0% Decision: Reject H.

(b) Ho:pup —pua=.1, Hy : up — ua # .1 Decision; Do not Reject Hy.
Hy : Given data follows poisson distribution.

H; : Given data does not follows poisson distribution.
Decission: Hj is rejected.

Hj : Earthquake is equally likely to occur on any of the 7 days of the week.
H, : Earthquake is not equally likely to occur on any of the 7 days of the week.
Decision: Do not reject Hy.

(Goodness of fit) D3 = 3.2465. Decision: Do not reject Hp.

Hj : Die is fair.
H, : Die is not fair.
Decission: Do not reject Hy.

Hj : Having a cellular phone in your car and being involved in an accident are independent.
H; : Having a cellular phone in your car and being involved in an accident are not independent.
Decission: Do not reject Hy.

Hy : Smoking and lung cancer are independent.
H; : Smoking and lung cancer are not independent.
Decission: Reject Hy.

Hy:p<0.6, H : p> 0.6, zg = —.4 Decision: Do not reject Hy.
zo = —1.7852. Decision: Do not reject Hy.
(test for proportions) D3 = 34.005. Decision: Reject Hy.

Fy = 2.769 Decision: Do not reject Hy.
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D32 =3 %1077, Decision: Do not reject Hy.

Hy : pg = po, Hy @ pg # po Decision: Reject Hy.

Hy: 0} =03, Hy: 0% # 03 Decision: Do not Reject Hy.
Hy:p> .15, Hy : pu < .15 Decision: Reject Hy.

2o = —1.84676. Decision: Do not reject Hy.

Fy = 3.88 Decision: Do not reject Hy.

Fy = 3.22. Decision: Reject Hy.

Fy = 4.26 Decision: Reject Hy.



